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Index = Logarithm
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Introduction to Logarithms Unit 10 Day 1
Given the following function, make a table & gr‘ap% f(x)= 2} and its inverse,
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Based on the graph of the inverse of f(x) above, ! iz
Describe the end behavior of the functionas ¥ —> Q_
Describe the end behavior of the functionas x>0 :71_‘_‘_§ e
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What would be the first two steps to find an equation for the inverse o

gebraically:
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0 help us with the next step we have to look at a new function called a logarithm.

Defining Logarithmic Equations - The func'rionis the name we give the inverse of
For example, y=log, x is the inverse of y=2", We can write an equivalent

exponential equation for each logarithm as followg:

v=log, x isthesameas D' =x

or
fl(x) = log, x

Now let’s write the equation on the previous page as a logarithmic equation.

Logarithmic Equation: Lj = ‘ogla)( o &}) = {273(
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Logarithmic Equation:
Describe the end behavior o das 100 X0 5 gy > OO0
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Describe the end behavior of the functionas x—0 3‘_——3 oo




Unit 10 Day 1 2020 per8-9.notebook February 24, 2020

Summary ) 2 _;_‘
@Devzry logarithmic gr‘uph‘.(l ),,,,

o x%

Domuin:i)(}X >03 ) CDIDO) Quadr‘ar\TSLT I

Range: Zf,dﬁ éﬂ_i) (—00,00) Asymptote: X=0 G
(ronficat)
Let's graph the functiof(g(x) = loga(x+2) ) legt 2

We will use the graph fo m: help us do this. 7
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What is the asymptote of f(x) = logzx? X—‘—Q |[ |
On the graph, plot the function g(x) = loga(x+2) using the points
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from f(x) = logsx X—:N X=0
What fransformation happened to the function? _J $é=(= 2
What is the asymptote of g(x)? VESN ]

Describe the end behavior os X =@ ;A{ﬂ

Describe the end behavior of g(x) as x - -2 :;_, —_—cn
@ee for any function f(x) = logs(x-¢) will be Xx=c

State the @M@w the graph T =Togsx-#1—)
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Now let's look at the functiol
What transformations happened
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What is the asymptote of the new function?
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